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Answers for Lesson 8-3, pp. 434-437 Exercises

25.

26.
27.
28.
29.

. D

) 2. %3 3. 1;1 4. 112
12.3 6. 144 7. 2.5 8. 1.6
21.4 10. about 50 yd

. 32 12. 58 13. 48 14. 65

. 63 16. 58 17. 74.1 18. 13.5

. 114.5 20. 89.4

. 44 and 136 22. 52 m

. Consider a 30-60-90 A. Let the length of the shorter side

be a. Then the length of the longer side, opposite the 60°~,
is a\V/3. Thus, tan 60° = aT\/§ = V3.

30°

3Wa| \?2

60°

a

% = 1, so we have to show tan~ ! 1 = 45° This is equivalent

to showing 1 = tan 45°. Consider a 45-45-90 A. Let the
lengths of the shorter sides be a. Thus, tan 45° = § = 1.

152° and 28°
w=25x=4.7
w=6.7;x = 8.1
w =59 x = 36
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Answers for Lesson 8-3, pp. 434-437 Exercises (cont.)

30. a. 0.1;0.2;0.3;0.4;0.5;0.6;0.7;0.8;1;1.2;:1.4;1.7;2.1; 2.7;

3.7;5.7;11.4
b. A ¢. approaches 0; increases
- /+ to infinity
£ d. Answers may vary.
£ 4 /,/ Samples: 82;2.5; 74
= 2 **,./
0102030 4050607080
Degrees
31. about 51° 32. about 701 ft
33. about 296 ft 34. about 58.4%
35. 71.6 36. 60.0
37. 45.0 38. 30.0
39. 224 40. 104
41. 6.0 42. 3.5
43. 1.6
44. a. No; answers may vary. Sample: tan 45° + tan 30° =~
1 + 0.6 = 16, but tan(45 + 30)° = tan 75° = 3.7
b. No; Assume tan A° — tan B° = tan(A — B)°, or tan A° =
tan B° + tan(A — B)°.Let A = B + C, so by subst.,
tan(B + C)° = tan B° + tan C°.This is false by part (a).
45. a. 57.290
b. 572.96
¢. Answers may vary. Sample: tan X° = 572,958 for X° =
§89.9999
d. Answers may vary. Sample: In a rt. A, as an acute £
approaches 90°, the opp. side gets longer.
Lt RRLMRAR 175 |
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Answers for Lesson 8-3, pp. 434-437 Exercises (cont.)

46. a. Every Y value = 1.
b. The graph is that of Y; = 1.
¢. Conjecture: tan x° - tan(90 — x)° = 1. Proof: Let x be

an acute Z measure in a rt. A. Tg%)%n the other acute £

measures (90 — x). So tan x° = adi.> and tan (90 — x)° =
%. Therefore, tan x° tan(90 — x)° = %ﬁ?_’ . % =1

47. 42 48. 75 49. 6

50. 50 51. x 52. m/ X

53. 26.6 54. 80.5 55. 78.7

56. 53.1 57. 36.9 58. 33.7
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